
Name:
edHelper

Solve the story using the clues.  Fill in the chart using Y for yes or N for 
no.  The pizza slices in the picture show how many slices each person 
ate.

Joseph

Elizabeth

James

Amanda

2 slices 4 slices 1 slice 3 slices

The Story
Four people ate pizza.  Can you figure out how many slices each 
person ate?

The Clues
1. James ate less than 2 slices of pizza.

2. Elizabeth ate less than 4 slices of pizza.

3. Amanda ate more than 3 slices of pizza.

4. Elizabeth ate more than 2 slices of pizza.
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Name:
edHelper

Solve the story using the clues.  Fill in the chart using Y for yes or N for 
no.

Taylor

Rachel

Sarah

Victoria

The Story
For Parents' Day each child had one of their parents come to class to 
talk about their job.  Match each child with their parent.

The Clues
1. Sarah's parent did not wear a hat to class.

2. The name of the chef's child is either Taylor or Victoria.

3. Taylor's parent is not a mail carrier or police officer.

4. Victoria's parent is not the mail carrier.
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Name:
edHelper

Complete each pattern.

7, 4, 2, 6, 7, , , 6, 7, 4, 2, 6, 7, 4, 2

B, 0, 4, 5, B, 0, 4, 5, B, 0, 4, , , 0, 4, 5, B

Complete each pattern, using the same rule.  Write what the rule is.

35, 48, 61, 74, 87, 100, 113, 126, , 152

46, 59, , , , , 124, 137, 150

53, , , 92, 105, 118, , 144, 157, 170
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Name:
edHelper

Each row, column, and box must have the numbers 
1 through 4.  The first box is done.

2 3

4 1 3

3

4

Each row, column, and box must have 4 different 
pictures.

1

3 4

1 3
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Name:

edHelper

Solve the story using the clues.  Fill in the chart using Y for yes or N for 
no.

Nicholas

Thomas

Jessica

Sydney

The Story
For Parents' Day each child had one of their parents come to class to 
talk about their job.  Match each child with their parent.

The Clues
1. Nicholas' parent did not wear a hat to class.

2. The name of the clown's child is either Sydney or Jessica.

3. Jessica's parent is not a chef or mail carrier.

4. Thomas' parent is not the chef.
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Name:

edHelper

Cross off the number that does NOT belong.

10, 20, 30, 40, 42, 50, 60, 70, 80, 90

Why does __________ not belong in the pattern?

Cross off the letter that does NOT belong.

Q, K, P, J, O, I, N, H, L, M, G

Why does __________ not belong in the pattern?
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Name:

edHelper

Puzzle:

23

19

17

23 17 19 +
The sum for each column

and row is given.
= = =

=

Work Area:

23

19

17

23 17 19 +

Puzzle:

15

13

21

17 14 18 +
The sum for each column

and row is given.
= = =

= =

Work Area:

15

13

21

17 14 18 +
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Name:

edHelper

Sudoku Sums of 6
Each row, column, and box must have the numbers 1 through 6.
Hint: Look for sudoku sums.  The sum of the two boxes inside of 
the dashed lines is 6.

Here is an example of a sudoku sum of 6: 3 3

3 4 1

1 3

4 1

6 3

6 5

52
01+

6
4-

97, ,  ,  ,  

, ,  103

41
01+

How much is this?

57
12-

edHelper.com Critical Thinking

https://www.edhelper.com
https://www.edhelper.com/critical_thinking.htm





